
MATHS

BOOKS - OBJECTIVE RD SHARMA ENGLISH

INDEFINITE INTEGRALS

Illustration

1. If 
, then 
 
 (b) 
 (c) 


(d) 

A. 

B. 

C. 

D. 1

∫ dx = a sin 2x + C
sin8

x − cos8 x

1 − 2 sin2 x cos2 x
a = −1/2 1/2

−1 1

−
1

2

1

2

−1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JhyMq16jQZPi


Answer: A

Watch Video Solution

2. If , then k equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = k cos 8x + C
1 + cos 8x

tan 2x − cot 2x

−
1

16

1

8

1

16

−
1

8

3.  is equal to

A. 

∫ dx
sinx + cos x

sin(x − α)

(cosα − sinα)(x − α) + (cosα + sinα)log|sin(x − a)| + C

https://dl.doubtnut.com/l/_JhyMq16jQZPi
https://dl.doubtnut.com/l/_vuDyLFDAxrrg
https://dl.doubtnut.com/l/_qvkeGLVWKrko


B. 

C. 

D. none of these

Answer: 

Watch Video Solution

(cosα − sinα)(x − α) + (cosα + sinα)log|sin(x − a)| + C

(cosα − sinα)(x − α) + (cosα + sinα)log|sin(x + a)| + C

A

4.  then find out 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = Ax + B log(sin(x − α)) + C
sinx

sin(x − α)

(A, B)

( − cosα, sinα)

(cosα, sinα)

( − sinα, cosα)

(sinα, cosα)

https://dl.doubtnut.com/l/_qvkeGLVWKrko
https://dl.doubtnut.com/l/_vhSrs1q0a2yQ


5. Evaluate: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫  dx
1

sin(x − a)sin(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

sin(x − b)

− log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

sin(x − b)

log sin(x − a)sin(x − b) + C

log
∣
∣
∣

∣
∣
∣

+ C
sin(x − a)

sin(x − b)

6. The value of  is

A. 

B. 

C. 

√2∫
sinxdx

sin(x − )π
4

x + log∣
∣sin(x − )∣

∣ + C
π

4

x − log∣
∣cos(x = )∣

∣ + C
π

4

x + log∣
∣cos(x − )∣

∣ + C
π

4

https://dl.doubtnut.com/l/_vhSrs1q0a2yQ
https://dl.doubtnut.com/l/_JFYmMVNJCOAp
https://dl.doubtnut.com/l/_YG2FMB4V4GEN


D. 

Answer: A

Watch Video Solution

x − log∣
∣sin(x )∣

∣ + C
π

4

7. If , then

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx = A cot x + B sin 2x + x + D
cos4 x

sin2 x

C

2

A = − 2, B = 1/4

B = − 1/4, C = − 3

B = 1/4, C = − 3

8. If ,then I equalsI = ∫ dx
cos 2x − cos 2α

sina − sinα

https://dl.doubtnut.com/l/_YG2FMB4V4GEN
https://dl.doubtnut.com/l/_K0L2mk4YJ0ar
https://dl.doubtnut.com/l/_c9gPBdHWqYGU


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

2 sinx − x cosα + C

2 cos x − 2x sinα + C

2 cos x + 2 sinα + C

2 sinx + x cosα + C

9.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫tanx tan 2x tan 3xdx

log|sec 3x| − log|sec 2x| + log|secx| + C
1

3

1

2

log|sec 3x| − log|sec 2x| − log|secx| + C
1

3

1

2

log|sec 3x| + log|sec 2x| + log|secx| + C
1

3

1

2

https://dl.doubtnut.com/l/_c9gPBdHWqYGU
https://dl.doubtnut.com/l/_4fShxgrMuYiT


10.  Constant , then f (x) is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ex(1 + x)sec2(xex)dx = f(x) +

cos(xex)

sin(xex)

2 tan− 1 x

tan(xex)

11. Evaluate 

A. 

B. 

C. 

∫e3 logx(x4 + 1)
− 1

dx

log(x4 + 1) + C

log(x4 + 1) + C
1

4

−log(x4 + 1) + C

https://dl.doubtnut.com/l/_4fShxgrMuYiT
https://dl.doubtnut.com/l/_C0jQly5aQi3j
https://dl.doubtnut.com/l/_NW0MJUWg1BtA


D. none of these

Answer: B

Watch Video Solution

12. The primitive of the
function 
is



(a) 


(b) 


(c) 


(d) 

A. 

B. 

C. 

D. 

Answer: A

f(x) = (1 − )ax+  ,  a > 0
1

x2

1
x

ax+ 1
x

(log)ea

(log)ea
.
a
x+ 1

x

(log)ea
ax+ 1

x

x

x
ax+ 1

x

(log)ea

ax
+ 1

x

loge a

ax+ loge a
1
x

loge a
ax+ 1

x

x

ax+ 1
x

loge a

https://dl.doubtnut.com/l/_NW0MJUWg1BtA
https://dl.doubtnut.com/l/_5XkfHWcRJ3Io


Watch Video Solution

13.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
2

(ex + e−x)2

+ C
−e−x

ex + e−x

− + C
1

ex + e−x

− + C
1

(ex + 1)2

+ C
1

ex − e−x

14. If , then a=

A. 

B. 

∫ dx = a21 /x + C
21 /x

x2

−log2 e

−loge 2

https://dl.doubtnut.com/l/_5XkfHWcRJ3Io
https://dl.doubtnut.com/l/_PO5xpdsL8Ktr
https://dl.doubtnut.com/l/_rxDC9abV736F


C. 

D. 

Answer: A

Watch Video Solution

−1

1/2

15.  is equalto

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫x2ex
3
cos(ex

3
)dx

sin(ex
3
) + C

3 sin(ex
3
) + C

sin(ex
3
) + C

1

3

ex sin(ex
3
) + C

https://dl.doubtnut.com/l/_rxDC9abV736F
https://dl.doubtnut.com/l/_AyqisfRJo5Ex


16.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫sinxd(cos x)

sin 2x − x + C
1

2

( sin 2x − x) + C
1

2

1

2

( + x) + C
1

2

sin 2x

2

17. Evaluate:


A. 

B. 

C. 

D. none of these

∫(x + ) ( )dx
1

x

3
2 x2 − 1

x2

(x + )
3 / 2

+ C
2

3

1

x

(x + )
5 / 2

+ C
2

5

1

x

2(x + )
1 / 2

+ C
1

x

https://dl.doubtnut.com/l/_XKhakJ0u9Gn2
https://dl.doubtnut.com/l/_T24p3ue86FN3


Answer: B

Watch Video Solution

18. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫3√ dx
sinn x

cosn+ 6 x

tann/ 3 + 1 x + C
3

n + 3

tann/ 3 + 1 x + C
3

n + 3

tann/ 3 + 1 x + C
3

n + 1

19. The value of  dx is equal to

A. 

∫
1

x2(x4 + 1)3 / 4

(1 + )
1 / 41

x4

https://dl.doubtnut.com/l/_T24p3ue86FN3
https://dl.doubtnut.com/l/_ifCDqO3Puw6V
https://dl.doubtnut.com/l/_ktfedKQEak2U


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

−(1 + )
1 / 41

x4

− (1 + )
1 / 41

4

1

x4

20. If ,then a=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = a(1 + )
3 / 2

+ C
√5 + x10

x16

5

x10

−
1

25

1

75

−
1

75

−
1

150

https://dl.doubtnut.com/l/_ktfedKQEak2U
https://dl.doubtnut.com/l/_C08rKyJCwsYD


21. If , then 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx = f(x) + C
ex − 1
ex + 1

f(x) =

2 log(ex + 1) + C

log(e2x − 1) + C

2 log(ex + 1) − x + C

log(e2x + 1) + C

22. The value of 

A. 

B. 

C. 

D. none of these

∫ dx  is 
1 + logx

√(xx)
2

− 1

sec− 1(xx) + C

log∣
∣x

x + √x2x − 1∣
∣ + C

log∣
∣x

x − √x2x − 1∣
∣ + C

https://dl.doubtnut.com/l/_BSwELIaxBWsP
https://dl.doubtnut.com/l/_zQqLXEZu4wFG


Answer: a

Watch Video Solution

23. If , then I equals

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

I = ∫
dx

(a2 − b2x2)
3 / 2

+ C
x

√a2 − b2x2

+ C
x

a2√a2 − b2x2

+ C
ax

√a2 − b2x2

24.  is equal to a)  b) 

 c)  d) none of these

∫ dx
(tan− 1 x)

3

1 + x2
3(tan− 1 x)

2
+ C

(tan− 1 x)
4

+ C
1

4
(tan− 1 x)

4
+ C

https://dl.doubtnut.com/l/_zQqLXEZu4wFG
https://dl.doubtnut.com/l/_LiEsRAQjPPBF
https://dl.doubtnut.com/l/_lojhPldlLaqN


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

3(tan− 1 x)
2

+ C

+ C
(tan− 1 x)

4

4

(tan− 1 x)
4

+ C

25. 

A. 

B. 

C. 

D. 

Answer: d

Let In = ∫tann xdx, (n > 1). I4 + I6 = a tan5 x + bx5 + C,  where C is a

( , − 1)
1

5

( − , 0)
1

5

( − , 1)
1

5

( , 0)
1

5

https://dl.doubtnut.com/l/_lojhPldlLaqN
https://dl.doubtnut.com/l/_jtvR2t5san0l


Watch Video Solution

26. If ,then 9A

+7B +5C=

A. 1

B. 0

C. 

D. none of these

Answer: b

Watch Video Solution

∫sin5 x cos4 xdx = A cos9 x + B cos7 x + C cos5 x + D

−1

27. If , then

A. 

B. 

∫cos7 xdx = A sin7 x + B sin5 x + C sin3 x + sinx + k

A = , B = , C = − 1
1

7

3

5

A = − , B = , C = − 1
1

7

3

5

https://dl.doubtnut.com/l/_jtvR2t5san0l
https://dl.doubtnut.com/l/_GVinvRlFVks9
https://dl.doubtnut.com/l/_kpLIsawwFWjH


C. 

D. 

Answer: b

Watch Video Solution

A = , B = , C = − 1
−1

7

1

5

A = , B = , C = 1
1

7

3

5

28. If  , then

A. 7a = 5b

B. 5a = 7b

C. 7a + 5b = 0

D. 5a + 7b = 0

Answer: a

Watch Video Solution

∫ dx = a tan7 x + b tan5 x + C
sin4 x

cos8 x

https://dl.doubtnut.com/l/_kpLIsawwFWjH
https://dl.doubtnut.com/l/_sZyKa44nsym7


29. If  then

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ = a√cot x + b√tan3 x + c,
dx

√sin3 x cos5 x

+ (tanx)3 / 2 + C
−2

√tanx

2

3

(tanx)3 / 2 + C
2

√tanx

2

3

+ (tanx)1 / 3 + C
−2

√tanx

2

3

30. Evaluate: 

A. 3

B. 

C. 0

D. 

∫sec4 / 3 x  cosec8 / 3xdx

−3

−1

https://dl.doubtnut.com/l/_PEr77cylsxW9
https://dl.doubtnut.com/l/_jHUiaD5rDrdf


Answer: c

Watch Video Solution

31. The value of  , is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
sinx + cos x

3 + sin 2x

log( ) + C
1

4

2 + sinx − cos x

2 − sinx + cos x

log( ) + C
1

2

2 + sinx

2 − sinx

log( ) + C
1

4

1 + sinx

1 − sinx

32. If , then

A. m = n

∫√ dx = m sin− 1 ( )
n

+ C
x

a3 − x3

x

a

https://dl.doubtnut.com/l/_jHUiaD5rDrdf
https://dl.doubtnut.com/l/_1vHIzEqpVhjd
https://dl.doubtnut.com/l/_UiS6Cjnw7hki


B. m =-n

C. 

D. 

Answer: c

Watch Video Solution

m = 1/n

m = − 1/n

33. If ,then g (x)=

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫√ dx = g(x) + C
x4

a6 + x6

log∣
∣x

3 − √a6 + x6∣
∣

1

3

log∣
∣x

3 + √a6 + x6∣
∣

log∣
∣x

3 + √a6 + x6∣
∣

1

3

https://dl.doubtnut.com/l/_UiS6Cjnw7hki
https://dl.doubtnut.com/l/_caX4elyniyyF


34. If  , then f (x)=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx = f(x) + C
1

x2 + 2x + 2

tan− 1(x + 1)

2 tan− 1(x + 1)

−tan− 1(x + 1)

3 tan− 1(x + 1)

35.  is equal to

A. 

B. 

C. 

D. 

∫
dx

x(x7 + 1)

log( ) + C
x7

x7 + 1

log( ) + C
1

7
x7

x7 + 1

log( ) + C
x7 + 1

x7

log( ) + C
1

7
x7 + 1

x7

https://dl.doubtnut.com/l/_rNWkXHyST1C4
https://dl.doubtnut.com/l/_3UdaDRG99OgR


Answer: B

Watch Video Solution

36.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

x2 + 4x + 13

log(x2 + 4x + 13) + C

tan− 1( )
1

3

x + 2

3

log(2x + 4) + C

+ C
2x + 4

(x2 + 4x + 13)3

37. If  , then

A. 

∫ dx = fog(x) + C
1

√2ax − x2

f(x) = sin− 1 x, and g(x) =
x + a

a

https://dl.doubtnut.com/l/_3UdaDRG99OgR
https://dl.doubtnut.com/l/_16sIoOvKisbY
https://dl.doubtnut.com/l/_Sa5gKW3y4rRH


B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = sin− 1 x, and g(x) =
x − a

a

f(x) = cos − 1 x, and g(x) =
x − a

a

f(x) = tan− 1 x and g(x) =
x − a

a

38. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫(√tanx + √cot x)dx

sin− 1(sinx − cos c) + C

√2 sin− 1(sinx − cos x) + C

t = √2 cos − 1(sinx − cos x) + C

https://dl.doubtnut.com/l/_Sa5gKW3y4rRH
https://dl.doubtnut.com/l/_WwAnsF3TwpqP
https://dl.doubtnut.com/l/_eYmF4sNJT6sI


39. Evaluate:


A. a = b

B. a + b =4

C. a = 2b

D. b = 2a

Answer: B

Watch Video Solution

∫ dx
4x + 1

x2 + 3x + 2

40. The value of , is

A. 

B. 

C. 

D. none of these

∫ dx
1

x + √x − 1

log(x + √x − 1) + sin− 1 √ + C
x − 1

x

log(x + √x − 1) + C

log(x + √x − 1) − tan− 1( ) + C
2

3

2√x − 1 + 1

√3

https://dl.doubtnut.com/l/_eYmF4sNJT6sI
https://dl.doubtnut.com/l/_gAGdxzC873IR


Answer: c

Watch Video Solution

41. If , then the value

of ab , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = tan− 1(3 tanx) + C
1

a2 sin2 x + b2 cos2 x

1

12

41

12

39

36

42. ∫ dx
1

1 + 3 sin2 x

https://dl.doubtnut.com/l/_gAGdxzC873IR
https://dl.doubtnut.com/l/_7b4QayWHitYd
https://dl.doubtnut.com/l/_FaWtuEtreC5K


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

tan− 1(3 tan2 x) + C
1

3

tan− 1(2 tanx) + C
1

2

tan− 1(tanx) + C

43. 

A. .

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx =
1

7 + 5 cos x

tan− 1( tan ) + C
1

√6

1

√6

x

2

tan− 1( tan ) + C
1

√3

1

√3

x

2

tan− 1( ) + C
1

4
x

2

tan− 1(tan ) + C
1

7

x

2

https://dl.doubtnut.com/l/_FaWtuEtreC5K
https://dl.doubtnut.com/l/_4RPxLiOoG99S


44.  dx equals

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫
1

cos x + √3 sinx

log tan( + ) + C
π

2

π

12

log tan( − ) + C
x

2

π

12

log tan( + ) + C
1

2
x

2

π

12

log tan( − ) + C
1

2
x

2

π

12

45.  is equal to

A. 

B. 

C. 

∫ dx
1

cos x − sinx

log
∣
∣
∣
tan( − )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣cot ∣

∣ + C
1

√2

x

2

log ∣ tan( − ) + C
1

√2

x

2

π

8

https://dl.doubtnut.com/l/_4RPxLiOoG99S
https://dl.doubtnut.com/l/_VWOqM91FlnlJ
https://dl.doubtnut.com/l/_6BJqWGbPX25R


D. 

Answer: d

Watch Video Solution

log
∣
∣
∣
tan( + )

∣
∣
∣

+ C
1

√2

x

2

3π

8

46.  equals

A. 

B. + C

C. + C

D. + C

Answer: d

Watch Video Solution

∫ dx
1

sinx − cos x + √2

− tan( + ) + C
1

√2

x

2

π

8

tan( + )
1

√2

x

2

π

8

cot( + )
1

√2

x

2

π

8

− cot( + )
1

√2

x

2

π

8

https://dl.doubtnut.com/l/_6BJqWGbPX25R
https://dl.doubtnut.com/l/_gywcuqm8aM4m


47. If  then
 a. 


b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx = ax + b loge|2 sinx + 3 cos x| + c
3 sinx + 2 cos x

3 cos x + 2 sinx

a = −
12

13
b =

6

13
a =

12

13
b = −

15

39

a = , b = −
5

13

12

13

a = , b = −
12

13

5

13

a = , b =
12

13

5

13

a = , b =
−12

5

−5

13

48. 

A. 

B. 

C. 

D. 

∫ dx =
sinx + 8 cos x

4 sinx + 6 cos x

x + log|4 sinx + 6 cos x| + C
1

2

2x + log|2 sinx + 3 cos x| + C

x + 2 log|2 sinx + 3 cos x| + C

log|4 sinx + 6 cos x| + C
1

2

https://dl.doubtnut.com/l/_LxjkrycaRdF8
https://dl.doubtnut.com/l/_Q7QJ8DQxqMPe


Answer: a

Watch Video Solution

49. Evaluate:


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫tan− 1 √ dx
1 − x

1 + x

(x cos − 1 x − √1 − x2) + C
1

2

(x cos − 1 x − √1 + x2) + C
1

2

(x cos − 1 x − √1 − x2) + C
1

2

(x cos − 1 x − √1 + x2) + C
1

2

50.  is equal to

A. 

∫ dx
x2

(x sinx + cos x)
2

+ C
sinx + x cos x

x sinx + cos x

https://dl.doubtnut.com/l/_Q7QJ8DQxqMPe
https://dl.doubtnut.com/l/_kPnUv6YZpvUn
https://dl.doubtnut.com/l/_My9stZlrAyNX


B. 

C. 

D. none of these

Answer: b

Watch Video Solution

+ C
sinx − x cos x

x sinx + cos x

+ C
sinx − x cos x

x sinx − cos x

51.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫{sin(loge x) + cos(loge x)}dx

sin(loge x) + cos(loge x) + C

x sin(loge x) + C

x cos(loge x) + C

https://dl.doubtnut.com/l/_My9stZlrAyNX
https://dl.doubtnut.com/l/_nX2ENMgRmLw9
https://dl.doubtnut.com/l/_jzDC8GQuUHQh


52. Evaluate .

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫(log(logx) + )dx
1

(logx)2

f(x) = log(logx), g(x) =
1

logx

f(x) = logx, g(x) =
1

logx

f(x) = , (x) = log(logx)
1

logx

f(x) = , g(x) =
1

x logx

1

logx

53.  is equal to

A. 

B. 

C. 

D. 

∫etan − 1 x( )dx
1 + x + x2

1 + x2

xetan − 1 x + C
1

2

etan − 1 x + C
1

2

xetan − 1 x + C

etan − 1 x + C

https://dl.doubtnut.com/l/_jzDC8GQuUHQh
https://dl.doubtnut.com/l/_CYFyYu1Lgwqo


Answer: c

Watch Video Solution

54.  is equal to

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

∫e−x(1 − tanx)secxdx

e−x secx + C

e−x tanx + C

−e−x tanx + C

55.  is equal to

A. 

∫(x + 1)2
exdx

xex + C

https://dl.doubtnut.com/l/_CYFyYu1Lgwqo
https://dl.doubtnut.com/l/_Dd1thOixplRi
https://dl.doubtnut.com/l/_JHJCg4soaI6t


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2ex + C

(x + 1)ex + C

(x2 + 1)ex + C

56.  is eqal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ex(1 − cot x + cot2 x)dx

ex cot x + C

−ex cot x + C

excosec x + C

−excosec x + C

https://dl.doubtnut.com/l/_JHJCg4soaI6t
https://dl.doubtnut.com/l/_rU90g8gZV9sl
https://dl.doubtnut.com/l/_NnSnxf04zHOB


57. Evaluate 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫( )

2

dx
logx − 1

1 + (logx)
2

+ C
x

(logx)
2

+ 1

+ C
xex

1 + x2

+ C
x

1 + x2

+ C
logx

(logx)2 + 1

58. Evaluate:


A. 

B. 

C. 

D. 

∫ex( )dx
1 − sinx

1 − cos x

ex cot( ) + C
x

2

e−x cot( ) + C
x

2

−ex cot( ) + C
x

2

−e−x cot( ) + C
x

2

https://dl.doubtnut.com/l/_NnSnxf04zHOB
https://dl.doubtnut.com/l/_HME2MSfRUrB5


Answer: c

Watch Video Solution

59. If

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

u = ∫eax sin  bx  dx and v = ∫eax cos  bx   dx then (u2 + v2)(a2 + b2)

2eax

e2ax

2e2ax

bxeax

60. If ,then 

 equals

u = ∫eax sin  bx  dx and v = ∫(eax)cos  bx  dx

tan− 1( ) + tan− 1( )
u

v

b

a

https://dl.doubtnut.com/l/_HME2MSfRUrB5
https://dl.doubtnut.com/l/_2uN4x0sZWhgw
https://dl.doubtnut.com/l/_N3y6eosskff3


A. bx

B. 2 bx

C. 

D. 

Answer: a

Watch Video Solution

b2x2

√bx

61. If  then 
 (i) 
 (ii)

(iii) 
(iv) 

A. 4

B. 

C. 2

D. 

Answer: b

∫ dx = tan− 1( ) + c
x2 + 4

x4 + 16

1

k

x2 − 4

kx
k = √2 4√2

2√2 2

2√2

√2

https://dl.doubtnut.com/l/_N3y6eosskff3
https://dl.doubtnut.com/l/_u0y5xE6wZpW4


Watch Video Solution

62. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx
1

cos6 x + sin6 x

tan− 1(tanx + cot x) + C

tan− 1(cot x − tanx) + C

tan− 1(tanx − cot x) + C

63. If  Then for an

arbitrary constant c, the value of  equal to

A. 

B. 

I = ∫ dx. J = ∫ dx.
ex

e4x + e2x + 1

e−x

e− 4x + e− 2x + 1

J − I

log( ) + C
1

2
e4x − e2x + 1

e4x + e2x + 1

log( ) + C
1

2
e2x + ex + 1

e2x − ex + 1

https://dl.doubtnut.com/l/_u0y5xE6wZpW4
https://dl.doubtnut.com/l/_uVykbRrupPnn
https://dl.doubtnut.com/l/_RvZtLQm1CTnM


Solved Example

C. 

D. 

Answer: c

Watch Video Solution

log( ) + C
1

2
e2x + ex + 1

e2x + ex + 1

log( ) + C
1

2
e2x + e2x + 1

e2x + e2x + 1

1.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

∫ dx
1 + x4

(1 − x4)3 / 2

+ C
1

√x2 − 1
x2

+ C
1

√ − x21
x2

+ C
1

√ + x21
x2

https://dl.doubtnut.com/l/_RvZtLQm1CTnM
https://dl.doubtnut.com/l/_BBLn4npICjY5


Watch Video Solution

2.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ d(x2 + 1)
1

√x2 + 2

2√x2 + 2 + C

2((x2 + 2) ) + C
5
2

+ C
1

(x2 + 2)3 / 2

3. Integration of f (x)  with respect to , is

A. 

B. 

C. 

= √1 + x2 x2

+ C
2

3

(1 + x2)
3 / 2

x

(1 + x2)
3 / 2

+ C
2

3

(1 + x2)
3 / 2

+ C
2x

3

https://dl.doubtnut.com/l/_BBLn4npICjY5
https://dl.doubtnut.com/l/_iDEEKGZKWWTU
https://dl.doubtnut.com/l/_VQg4IXvgOnp3


D. none of these

Answer: B

Watch Video Solution

4. The value of  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫
dx

x√1 − x3

log
∣
∣
∣

∣
∣
∣

+ C
1

3

√1 − x3 − 1

√1 − x3 + 1

log
∣
∣
∣

− 1
∣
∣
∣

+ C
1

2

√1 − x2 + 1

√1 − x2

log
∣
∣
∣

∣
∣
∣

+ C
1

3

1

√1 − x3

5. If  , then P equals∫ dx = P√cot x + Q
√cot x

sinx cos x

https://dl.doubtnut.com/l/_VQg4IXvgOnp3
https://dl.doubtnut.com/l/_GSWNeKUqc8nH
https://dl.doubtnut.com/l/_jRn4smMB9FQv


A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

−1

−2

6. If , then  f(x)dx is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

f( ) = x + 2
3x − 4

3x + 4
∫

ex+ 2 loge
∣
∣
∣

∣
∣
∣

3x − 4

3x + 4

− loge|1 − x| + x + C
8

3

2

3

loge|x − 1| + + C
8

3
x

3

https://dl.doubtnut.com/l/_jRn4smMB9FQv
https://dl.doubtnut.com/l/_ZtqwSBWGzYp8


7. dx is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫xx(1 + loge x)

xx loge x + C

exx + C

xx + C

8. The value of  is

A. 

B. 

C. 

∫
dx

x (1 + x )
1
5

4
5

1
2

√1 + x4 / 5 + C

√1 + x4 / 5 + C
5

2

x4 / 5√1 + x4 / 5 + C

https://dl.doubtnut.com/l/_ZtqwSBWGzYp8
https://dl.doubtnut.com/l/_SBYWxbFqwkOF
https://dl.doubtnut.com/l/_fmEC7VW5RiwE


D. none of these

Answer: b

Watch Video Solution

9. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x

5
2

√1 + x7

log∣
∣x

7 / 2 + √1 + x7∣
∣ + C

2

7

log
∣
∣
∣

∣
∣
∣

+ C
1

2
x7 + 1

x7 − 1

2√1 + x7 + C

10. ∫777x

⋅ 77x ⋅ 7x dx =

https://dl.doubtnut.com/l/_fmEC7VW5RiwE
https://dl.doubtnut.com/l/_h8sTp6Fic9IQ
https://dl.doubtnut.com/l/_cLDWfRU88yxJ


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

+ C
777x

(loge 7)3

+ C
777x

(loge 7)2

777x

. (log 7)3 + C

11. The value of  , is

A. 

B. 

C. 

D. none of these

Answer: b

h id l i

∫ dx
1

sin(x − )cos xπ

3

2 log|sinx + sin ⋅ (x − π/3)| + C

2 log∣
∣secx sin(x − )∣

∣ + C
π

3

2 log∣
∣sinx − sin(x − )∣

∣ + C
π

3

https://dl.doubtnut.com/l/_cLDWfRU88yxJ
https://dl.doubtnut.com/l/_bRaV4xFYvkzQ


Watch Video Solution

12. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx.

log(x + √1 + x2)

√1 + x2

2 loge(x + √x2 + 1) + C

{loge(x + √x2 + 1)}
2

+ C

log(x + √x2 + 1) + C

13. The value of  , is

A. 

B. 

∫ dx
√1 + x

x

2√1 + x + log
∣
∣
∣

∣
∣
∣

+ C
√1 + x − 1

√1 + x + 1

2√1 + x + C

https://dl.doubtnut.com/l/_bRaV4xFYvkzQ
https://dl.doubtnut.com/l/_fmfFiteoj13d
https://dl.doubtnut.com/l/_FmpLCbeFS0tR


C. 

D. 

Answer: a

Watch Video Solution

loge
∣
∣
∣

∣
∣
∣

+ C
√1 + x − 1

√1 + x + 1

+ C
√1 + x − 1

√1 + x + 1

14. 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
1 + cos 4x

cot x − tanx

A = , B ∈ R
1

8

A = − , B ∈ R
1

8

A = , B ∈ R
1

4

https://dl.doubtnut.com/l/_FmpLCbeFS0tR
https://dl.doubtnut.com/l/_rlnolT5sYEAJ


15. Evaluate: 
.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫  dx
x7

(1 − x2)5

+ C
x8

(1 − x2)4

+ C
1

8

x8

(1 − x2)
4

+ C
1

8
x4

(1 − x2)4

16. If  ,then f(x) is equal to

A. 

B. 

C. 

D. 

∫f(x)sinx cos xdx = lnf(x) + c
1

2(b2 − a2)

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 sin2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

https://dl.doubtnut.com/l/_P4Z8QC7rO75R
https://dl.doubtnut.com/l/_rPUHSZdqed1j


Answer: a

Watch Video Solution

17. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫
dx

xn(1 + xn)
1
n

{1 + }
1 −

+ C
1

1 − n

1

xn

1
n

{1 − }
1 −

+ C
1

1 + n

1

xn

1
n

− {1 − }
1 −

+ C
1

1 − n

1

xn

1
n

− {1 + }
1 −

+ C
1

1 + n

1

xn

1
n

18. If  then a =

A. 2

∫ dx = sin− 1( ) + C
cos x − sinx

√8 − sin 2x

sinx + cos x

a

https://dl.doubtnut.com/l/_rPUHSZdqed1j
https://dl.doubtnut.com/l/_bBqYArB78CcB
https://dl.doubtnut.com/l/_ET5Ml4uo1zvY


B. 3

C. 4

D. none of these

Answer: b

Watch Video Solution

19. Evaluate .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫(3x2tan − xsec2 )dx
1

x

1

x

x3  tan + C
1

x

x2  tan + C
1

x

x  tan + C
1

x

https://dl.doubtnut.com/l/_ET5Ml4uo1zvY
https://dl.doubtnut.com/l/_WtngHfwIGHVG
https://dl.doubtnut.com/l/_wbERNuv20pER


20. If  

 , then

A. 

B. 

C. L = 1

D. 

Answer: d

Watch Video Solution

∫x log(1 + )dx
1

x

= f(x). loge(x + 1) + g(x)loge x + Lx + C

f(x) =
x2

2

g(x) = loge x

L =
1

2

21.  equals to

A. 

B. 

C. 

∫ dx
e (x

2 + 4Inx ) − x3ex
2

x − 1

( )ex
2

+ C
e3Inx − eInx

2x

+ C
(x − 1)xex

2

2

ex
2

+ C
(x2 − 1)

2x

https://dl.doubtnut.com/l/_wbERNuv20pER
https://dl.doubtnut.com/l/_kldF7Ns8fXjv


D. none of these

Answer: d

Watch Video Solution

22. The value of the integral  , is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
xsinx2esecx2

cos2 x2

esecx2

+ C
1

2

esin x2

+ C
1

2

sinx2ecos2 x2

+ C
1

2

23.  equals∫ dx
1

(x − 1)√x2 − 1

https://dl.doubtnut.com/l/_kldF7Ns8fXjv
https://dl.doubtnut.com/l/_Wh3saP3a1qJ8
https://dl.doubtnut.com/l/_kW8sPQZve5gE


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

−√ + C
x − 1

x + 1

√ + C
x − 1

x + 1

√ + C
x + 1

x − 1

−√ + C
x + 1

x − 1

24.  is equal to

A. 

B. 0

C. does not exist

D. none of these

Answer: c

Watch Video Solution

∫√x − 3(sin− 1(Inx) + cos − 1(Inx))dx

(x − 3)3 / 2 + C
π

3

https://dl.doubtnut.com/l/_kW8sPQZve5gE
https://dl.doubtnut.com/l/_qxD1amm1I6BL


25.  equals

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
1 − x7

x(1 + x7)

a = 1, b =
2

7

a = − 1, b =
2

7

a = 1, b = −
2

7

a = − 1, b = −
2

7

26. Evaluate:


A. 

B. 

C. 

sin3 xdx

(cos4 x + 3 cos2 x + 1)tan− 1(secx + cos x)

tan− 1(secx + cos x) + C

loge∣∣tan− 1(secx + cos x)∣∣ + C

+ C
1

(secx + cos x)2

https://dl.doubtnut.com/l/_qxD1amm1I6BL
https://dl.doubtnut.com/l/_hi7vhiv3zkLC
https://dl.doubtnut.com/l/_DiBHQ1hCMOki


D. none of these

Answer: b

Watch Video Solution

27.  is equal to :

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫ dx
(x − x5)

1 / 5

x6

( − 1)
6 / 5

+ C
5

24

1

x4

(1 − )
6 / 5

+ C
5

24

1

x4

− (1 − )
6 / 5

+ C
5

24

1

x4

28.  is equal to∫ dx
tanx

√sin4 x + cos4 x

https://dl.doubtnut.com/l/_DiBHQ1hCMOki
https://dl.doubtnut.com/l/_NLQP44WA80ln
https://dl.doubtnut.com/l/_11BdDucpwpQB


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

loge(tan2 x + √1 + tan4 x) + C

loge(tan2 x + √1 + tan4 x) + C
1

2

log(tan2 x + √1 + tan4 x) + C
1

4

29. If , find then find

A and B.

A. 

B. 

C. 

D. none of these

Answer: b

∫√ dx = − 2(A tan− + B tan−
x) + C

cos3 x

sin11 x

9
2

5
2

A = , B = −
1

9

1

5

A = , B =
1

9

1

5

A = − , B =
1

9

1

5

https://dl.doubtnut.com/l/_11BdDucpwpQB
https://dl.doubtnut.com/l/_SowrsB1a6Xsk


Watch Video Solution

30. is equal to:

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫( )(log(g(x)) − log(f(x)))dx
f(x)g' (x) − f' (x)g(x)

f(x)g(x)

loge{ } + C
g(x)

f(x)

{loge }
2

+ C
1

2

g(x)

f(x)

loge + C
g(x)

f(x)

g(x)

f(x)

31. is equal to:

A. 

B. 

∫( )(log(g(x)) − log(f(x)))dx
f(x)g' (x) − f' (x)g(x)

f(x)g(x)

f(x)g(x)log{f(x)g(x)} + C

[log{f(x)g(x)}]
2

+ C
1

2

https://dl.doubtnut.com/l/_SowrsB1a6Xsk
https://dl.doubtnut.com/l/_yu1KSIdx1wqW
https://dl.doubtnut.com/l/_l6gAOXZDhCNe


C. 

D. 

Answer: b

Watch Video Solution

[log{f(x)g(x)}]2 + C

log{f(x)g(x)} + C

32.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫(xx)x(2x loge x + x)dx

x(xx) + C

(xx) + C

xx. loge x + C

https://dl.doubtnut.com/l/_l6gAOXZDhCNe
https://dl.doubtnut.com/l/_vpe8Vni2vUW3


33. Let the equation of a curve passing through the point (0,1) be given b

. If the equation of the curve is written in the form 

, then f(y) is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

y = ∫x2ex
3
dx

x = f(y)

√loge(3y − 2)

3√loge(3y − 2)

3√loge(2 − 3y)

34. Evaluate:


A. 

B. 

∫ dx
1

sin4 x + cos4 x

tan− 1( ) + C
1

√2

tan 2x

√2

tan− 1( ) + C
1

√2

1 + cos 2x

√2

https://dl.doubtnut.com/l/_meRDtV6ffRWw
https://dl.doubtnut.com/l/_Ov8VVLvMaTTF


C. 

D. 

Answer: a

Watch Video Solution

tan− 1( ) + C
1

√2

tanx + cot x

√2

√2 tan− 1( ) + C
√tanx + √cotx

√2

35. Evaluate the following Integrals : 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫
secx. dx

√sin(x + 2A) + sinA

√secα(tanx + tanα) + C

√2 secα(tanx − tanα) + C

√2 secα(tanα − tanα) + C

https://dl.doubtnut.com/l/_Ov8VVLvMaTTF
https://dl.doubtnut.com/l/_1ddploE6ODeh
https://dl.doubtnut.com/l/_TLjwxQo06nqW


36. 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

Let ∫ex{f(x) − f' (x)}dx = ϕ(x).  Then ∫exf(x)dx  is 

ϕ(x) + exf(x)

ϕ(x) − exf(x)

{ϕ(x) − exf' (x)}
1

2

{ϕ(x) + exf' (x)}
1

2

37. Evaluate .

A. 

B. 

C. 

D. none of these

if ∫ dx = f(x) + c,  then ∫ dx
1

x + x5

x4

x + x5

logx − f(x) + C

f(x) + logx + C

f(x) − logx + C

https://dl.doubtnut.com/l/_TLjwxQo06nqW
https://dl.doubtnut.com/l/_Yu04o7kRzDBc


Answer: a

Watch Video Solution

38. If , then  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫f(x)dx = F (x) ∫x3f(x2)dx

[x2{F (x)}2 − ∫{F (x)}2
dx]

1

2

[x2F(x2) − ∫F(x2)d(x2)]
1

2

[x2F (x) − ∫{F (x)}2
dx]

1

2

1

2

39. If n is an odd positive integer, then  is equal to

A. 

∫ |xn|dx

∣
∣
∣

∣
∣
∣

+ C
xn+ 1

n + 1

https://dl.doubtnut.com/l/_Yu04o7kRzDBc
https://dl.doubtnut.com/l/_oiQBAGB1frWu
https://dl.doubtnut.com/l/_s1HSYjRzlVjY


B. 

C. 

D. none of these

Answer: c

Watch Video Solution

+ C
xn+ 1

n + 1

+ C
|xn|

n + 1

40. If  , then f'' (x)=

A. 29 f (x)

B. 

C. 25 f(x)

D. 

Answer: d

Watch Video Solution

∫eax cos bxdx = f(x) + C
e2x

29

−29f(x)

−25f(x)

https://dl.doubtnut.com/l/_s1HSYjRzlVjY
https://dl.doubtnut.com/l/_Y2WPIWmhwwe8
https://dl.doubtnut.com/l/_b2zoDi3LFvDB


41.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
sin4 x

sin4 x + cos4 x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

√2 + sin 2x

√2 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

1 + sin 2x

1 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

√2 + sin 2x

√2 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

1 + √2 sin 2x

1 − √2 sin 2x

42. If  , then f (x) is

A. 

B. 

C. 

D. 

∫f(x)dx = 2{f(x)}3 + C

x

2

x3

1

√x

√
x

3

https://dl.doubtnut.com/l/_b2zoDi3LFvDB
https://dl.doubtnut.com/l/_qnUyZ7tDmvT7


Answer: d

Watch Video Solution

43. Let g (x) be a differentiable function satisfying

 , then  is equal

to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

{g(x)} = g(x) and g(0) = 1
d

dx
∫g(x)( )dx

2 − sin 2x

1 − cos 2x

g(x)cot x + C

−g(x)cot x + C

+ C
g(x)

1 − cos 2x

https://dl.doubtnut.com/l/_qnUyZ7tDmvT7
https://dl.doubtnut.com/l/_5xojZXvgrORb


44. If , then the value of the integral

 is

A. f (x) g(x) +C

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫g(x)dx = g(x)

∫f(x)g(x){f(x) + 2f' (x)}dx

{f(x)}2
g(x) + C

{f(x) − f' (x)}g(x) + C

{f(x)}2
g(x) + C

45. If  then:

A. 

B. 

C. 

∫ = a tanx + b tan− 1(c tanx) + D,
dx

1 − sin4 x

A = and f(x) = √2 tanx
1

2√2

A = √2 and f(x) = √2 tanx

A = − √2 and f(x) = √2 tanx

https://dl.doubtnut.com/l/_eD1sK9IEzQPc
https://dl.doubtnut.com/l/_adCWXR8Dbele


D. none of these

Answer: a

Watch Video Solution

46.  is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫sin 2x loge cos xdx

( + loge cos x)cos2 x + C
1

2

cos2 x. loge cos x + C

( + loge cos x)cos2 x + C
1

2

https://dl.doubtnut.com/l/_adCWXR8Dbele
https://dl.doubtnut.com/l/_REy4rqK633UG


47. Let f(x) be a polynomial of degree three 

Also, 0 is a stationary point of  If f(x) does not have an extremum at 

 then the value of integral  is

A. 

B. x+C

C. 

D. nome of these

Answer: b

Watch Video Solution

f(0) = − 1 and f(1) = 0.

f(x).

x = 0, ∫ dx,
f(x)

x3 − 1

+ C
x2

2

+ C
x3

6

48. is equal to

A. 

B. 

∫ dx
1

x(1 + 3√x)
2

3{log( ) + } + C
x1 / 3

1 + x1 / 3

1

1 + 3√x

3{log( ) + + C
x1 / 3

1 + x1 / 3

1

1 + x

https://dl.doubtnut.com/l/_vPqxw2n24v0E
https://dl.doubtnut.com/l/_sF5h55CQQb04


C. 

D. none of these

Answer: a

Watch Video Solution

3{log( ) − } + C
x1 / 3

1 + x1 / 3

1

1 + x1 / 3

49. Let  


 is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

f(x) = ∫ and f(0) = 0.
x2dx

(1 + x2)(1 + √1 + x2)

f(x)

loge(1 + √2)

loge(1 + √2) −
π

4

loge(1 + √2) +
π

4

https://dl.doubtnut.com/l/_sF5h55CQQb04
https://dl.doubtnut.com/l/_imBGRmVWeMRe


50. Let  be a polynomial satisfying f(0)=2 ,  and 

 then f(4) equals

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

f(x) f' (0) = 3

f' ' (x) = f(x)

5(e8 + 1)

2e4

5(e8 − 1)

2e4

2e4

5(e8 − 1)

2e4

5(e8 + 1)

51. , where

A. A+B=0

B. A - B = 0

C. AB =1

∫ = A log(x + 1) + B log(x − 2) + C
dx

(x + 1)(x − 2)

https://dl.doubtnut.com/l/_8KL7sJUPVZIP
https://dl.doubtnut.com/l/_auAAzAKzKJta


D. AB =-1

Answer: A

Watch Video Solution

52.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x4 + 1

x6 + 1

tan− 1 x + tan− 1 x3 + C
1

3

tan− 1 x − tan− 1 x3 + C
1

3

−tan− 1 x − tan− 1 x3 + C
1

3

53. ∫ dx =
x2 − 1

x√x4 + 3x2 + 1

https://dl.doubtnut.com/l/_auAAzAKzKJta
https://dl.doubtnut.com/l/_mhs6JologvtZ
https://dl.doubtnut.com/l/_LFH08dejFz3d


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

loge
∣
∣
∣
x + + √x2 + + 3

∣
∣
∣

+ C
1

x

1

x2

loge
∣
∣
∣
x − + √x2 + − 3

∣
∣
∣

+ C
1

x

1

x2

loge
∣
∣x + √x2 + 3∣

∣ + C

54.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

W t h Vid S l ti

∫ dx
1 − x2

(1 + x2)√1 + x4

√2 sin− 1{ } + C
√2x

x2 + 1

sin− 1{ }
1

√2

√2x

x2 + 1

sin− 1{ } + C
1

2

√2x ⋅

x2 + 1

https://dl.doubtnut.com/l/_LFH08dejFz3d
https://dl.doubtnut.com/l/_hUSQeKtaDHY1


Watch Video Solution

55. If  then  equals

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

I = ∫ dx,
sin 2x

(3 + 4 cos x)
3

I

+ C
3 cos x + 8

(3 + 4 cos x)
2

+ C
3 + 8 cos x

16(3 + 4 cos x)2

+ C
3 + cos x

(3 + 4 cos x)2

+ C
3 − 8 cos x

16(3 + 4 cos x)2

56.  is equal to

A. 

B. 

∫ dx

({x + √x2 + 1})
n

√x2 + 1

{x + √x2 + 1}
n

+ C

{x + √x2 + 1}
n

+ C
1

n

https://dl.doubtnut.com/l/_hUSQeKtaDHY1
https://dl.doubtnut.com/l/_bcvC5I1baF3a
https://dl.doubtnut.com/l/_FbszhG7lDoie


C. 

D. none of these

Answer: b

Watch Video Solution

{x + √x2 + 1}
n+ 1

+ C
1

n + 1

57. If , then  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫f(x)dx = f(x) ∫{f(x)}2
dx

{f(x)}21

2

{f(x)}3

|f(x)|
3

3

{f(x)}
2

https://dl.doubtnut.com/l/_FbszhG7lDoie
https://dl.doubtnut.com/l/_7I6UQvcWXj6N


58. Evaluate 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ (2 + 2 sin 2x)dx
cos x − sinx

cos x + sinx

sin 2x + C

cos 2x + C

tan 2x + C

59.  is equal to

A. 

B. 

C. 

D. none of these

∫
dx

(2x − 7)√x2 − 7x + 12

2 sec− 1(2x − 7) + C

sec− 1(2x − 7) + C

sec− 1(2x − 7) + C
1

2

https://dl.doubtnut.com/l/_kohCgRHei6aX
https://dl.doubtnut.com/l/_ZmJVjgVSlooC


Answer: b

Watch Video Solution

60. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫x logx(logx − 1)dx

2(x logx − x)2 + C

(x logx − x)2 + C
1

2

(x logx)2 + C

(x logx)3 + C
1

2

61. 

A. 

∫(1 + x − x− 1)ex+x− 1
dx =

(x + 1)ex+x− 1
+ C

https://dl.doubtnut.com/l/_ZmJVjgVSlooC
https://dl.doubtnut.com/l/_o4pTsrbucJtF
https://dl.doubtnut.com/l/_WDb9cOhD9AbF


B. 

C. 

D. 

Answer: d

Watch Video Solution

(x − 1)ex+x− 1
+ C

−xex+x− 1
+ C

xex+x− 1
+ C

62. If 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

In = ∫(In x)ndx,  then In + nIn− 1 =

(x logx)n

x(logx)n

n(logx)n

(logx)n− 1

https://dl.doubtnut.com/l/_WDb9cOhD9AbF
https://dl.doubtnut.com/l/_JFsoIbmbi7gT
https://dl.doubtnut.com/l/_FCetlhpLbpkn


63. The value of  , is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx
sin2 x cos2 x

(sin3 x + cos3 x)
2

1

3(1 + tan3 x)

−
1

3(1 + tan3 x)

1

1 + tan3 x

−
1

1 + tan3 x

64. The integral 
 equals (for some arbitrary

constant 


∫ dx
sec2 x

(secx + tanx)
9
2

K). − { − (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)
1
11

1

11

1

7

− { + (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1
11

1

7

{ + (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1

11

1

7

https://dl.doubtnut.com/l/_FCetlhpLbpkn
https://dl.doubtnut.com/l/_6kdUuJQNdMhy


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

− { − (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

− { − (secx + tanx)2} + K
1

(secx + tanx)
11 / 2

1

11

1

7

{ − (secx + tanx)
2} + K

1

(secx + tanx)
11 / 2

1
11

1

7

65. If  x dx and f(0) = 0, then f(1) is :

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

f(x) = ∫ sec2
(x2 + sin2 x)

1 + x2

1 −
π

4

π

4

tan 1 +
π

4

tan 1 + 1

https://dl.doubtnut.com/l/_6kdUuJQNdMhy
https://dl.doubtnut.com/l/_cYqzZEUzKTWZ


Watch Video Solution

66. At present, a firm is manufacturing 2000 items. It
is estimated that the

rate of change of production P w.r.t. additional number
 of workers x is

given by 
 If the firm
 employs 25 more workers, then

the new level of production of items is
(1) 3000 (2)
3500
(3) 4500
(4) 2500

A. 2500

B. 3000

C. 3500

D. 4500

Answer: c

Watch Video Solution

= 100 − 12√x.
dP

dx

67. 

A. 

If ∫f(x)dx = Ψ(x),  then ∫x5f(x)3
dx  is equal to 

x3{x3ϕ(x3) − ∫x2ϕ(x3)dx} + C
1

3

https://dl.doubtnut.com/l/_cYqzZEUzKTWZ
https://dl.doubtnut.com/l/_RyUrGGQm05wq
https://dl.doubtnut.com/l/_rHIlymQiYPHK


B. 

C. 

D. 

Answer: c

Watch Video Solution

x3ϕ(x3) − 3∫x3ϕ(x3)dx + C
1

3

x3ϕ(x3) − ∫x2ϕ(x3)dx + C
1

3

{x3ϕ(x3) − ∫x3ϕ(x3)dx} + C
1

3

68. 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

The integral ∫(1 + x − )ex+ dx  is equal to 
1

x

1
x

(x + 1)ex+ + C
1
x

−xex+ + C
1
x

(x − 1)ex+ + C
1
x

xex+ + C
1
x

https://dl.doubtnut.com/l/_rHIlymQiYPHK
https://dl.doubtnut.com/l/_o9cO8YDHIetv
https://dl.doubtnut.com/l/_BZI1JEpLtflg


69. if  then 

A. 

B. 

C. 

D. cot x

Answer: a

Watch Video Solution

∫ dx = + c
1 − 5 sin2 x

cos5 x sin2
x

f(x)

cos5 x
f(x)

−cot x

−cosec x

cosec x

70. 

A. 

B. 

C. 

D. 

∫(x7m + x2m + xm)(2x6m + 7xm + 14) dx
1
m

+ C
(7x7m + 2x2m + 14xm)

m+ 1
m

14(m + 1)

+ C
(2x7m + 14x2m + 7xm)

m+ 1
m

14(m + 1)

+ C
(2x7m + 7x2m + 14xm)

m+ 1
m

14(m + 1)

+ C
(7x7m + 2x2m + xm)

m+ 1
m

14(m + 1)

https://dl.doubtnut.com/l/_BZI1JEpLtflg
https://dl.doubtnut.com/l/_MuBtYlCIS03L


Answer: c

Watch Video Solution

71.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫
xdx

√1 + x2 + √(1 + x2)
3

In(1 + √1 + x2) + C
1
2

+ C
−2

3(1 + √1 + x2)
3 / 2

2(1 + √1 + x2) + C

2√1 + √1 + x2 + C

72.  is equal to∫√x − 3(sin− 1(Inx) + cos − 1(Inx))dx

https://dl.doubtnut.com/l/_MuBtYlCIS03L
https://dl.doubtnut.com/l/_AXNnu6vywsrE
https://dl.doubtnut.com/l/_Duaio5nWUIVr


A. 

B. 0

C. 1

D. none of these

Answer: a

Watch Video Solution

(x − 3)3 / 2 + C
π

3

73. 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

The integral ∫(1 + x − )ex+ dx  is equal to 
1

x

1
x

xex+x− 1
+ C

−xex+x− 1
+ C

(x + 1)ex+x− 1
+ C

(x − 1)ex+x− 1
+ C

https://dl.doubtnut.com/l/_Duaio5nWUIVr
https://dl.doubtnut.com/l/_szidl6F49GUO


74.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ex
4
(x + x3 + 2x5)ex

2
dx

xex
2
ex

4
+ C

1

2

x2ex
4

+ C
1

2

ex
2
ex

4
+ C

1

2

x2ex
2
ex

4
+ C

1

2

75.  equals

A. 

B. 

C. 

∫(sin(101x). sin99 x)dx

sin(100x)(sinx)100 + C
1

100

cos(100x)(sinx)100 + C
1

100

cos(100x)(cos x)100 + C
1

100

https://dl.doubtnut.com/l/_szidl6F49GUO
https://dl.doubtnut.com/l/_l6Ff4wIFl0Nc
https://dl.doubtnut.com/l/_MGl5bs7II5dD


D. 

Answer: a

Watch Video Solution

sin(100x)(sinx)101 + C
1

100

76. Suppose  where C is arbitrary

constant of integration.then find value of 

A. sin x

B. cos x

C. tan x

D. cot x

Answer: c

Watch Video Solution

∫ dx = + c
1 − 7 cos2 x

sin7 x cos2 x

g(x)

sin7 x

g' (0) + g' ' ( )
π

4

https://dl.doubtnut.com/l/_MGl5bs7II5dD
https://dl.doubtnut.com/l/_6wA7ocXk9E2o


77.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫(x2 + x)(x− 8 + 2x− 9)
1 / 10

dx

(x2 + 2x)
11 / 10

+ C
5

11

(x + 1)11 / 10 + C
5

11

(x + 1)11 / 10 + C
6

7

(x2 + 2x)
11 / 10

+ C
11

5

78. If  where 

are rational number in its simplest form then  is equal to

A. 1

B. 2

C. 3

∫ ( )
1 / 3

 dx = λ( )
μ

+ c
2

(2 − x)2

2 − x

2 + x

2 + x

2 − x
λ and μ

(λ + )
1

μ

https://dl.doubtnut.com/l/_LUvCam169adw
https://dl.doubtnut.com/l/_VFZmO6dOZdT5


D. 6

Answer: c

Watch Video Solution

79. Let f(x) be a quadratic function such that  and 

 is a rational function, then the value of  is

A. 0

B. 2

C. 3

D. 5

Answer: c

Watch Video Solution

f(0) = 1

∫ dx
f(x)

x2(x + 1)3
f' (0)

https://dl.doubtnut.com/l/_VFZmO6dOZdT5
https://dl.doubtnut.com/l/_SWxKVof37OZQ


80.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫
xdx

√1 + x2 + √(1 + x2)
3

In(1 + √1 + x2) + C
1
2

+ C
−2

3(1 + √1 + x2)
3 / 2

2(1 + √1 + x2) + C

2√1 + √1 + x2 + C

81.  is equal to

A. 

B. 

C. 

∫ dx
ex(x − 1)(x − lnx)

x2

ex( ) + C
x − In x

x

ex( ) + C
x − In x + 1

x

ex( ) + C
x − In x

x

https://dl.doubtnut.com/l/_Za13xJvmizh2
https://dl.doubtnut.com/l/_6yqvidCoN68u


D. 

Answer: d

Watch Video Solution

ex( ) + C
x − In x − 1

x

82. 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫x27(1 + x + x2)
6
(6x2 + 5x + 4)dx =

(x6 + x5 + x4)
71

7

(6x5 + 5x4 + 4x3)
71

7

(6x6 + 5x5 + 4x4)
71

7

(x5 + x4 + x3)
71

7

https://dl.doubtnut.com/l/_6yqvidCoN68u
https://dl.doubtnut.com/l/_yrB69BYIv1lG


83. Let f (x) be a quadratic function such that f (0) =1 and

 is a rational function then the value

of f(10)

A. 584

B. 521

C. 520

D. 583

Answer: b

Watch Video Solution

f( − 1) = 4, if ∫ dx
f(x)

x2(1 + x)2

84. Evaluate

.

A. 

B. 

∫ [(sec− 1 √1 + x2)
2

+ cos − 1( )]dx(x > 0)
etan − 1 x

(1 + x2)

1 − x2

1 + x2

I = etan − 1 x(tan− 1 x) + C

I = etan − 1 x(sec− 1 √1 + x2)
2

+ C

https://dl.doubtnut.com/l/_c9McdGluTIIa
https://dl.doubtnut.com/l/_VYGo1HPwhbsE


C. 

D. 

Answer: b

Watch Video Solution

I = etan − 1 x(tan− 1 x)
2

+ C
1

2

I = etan − 1 x(cosec− 1√1 + x2)
2

+ C

85. 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫
x2(x sec2 x + tanx)

(x tanx + 1)2

+ 2  In|x sinx + cos x| + C
−x

(tanx + 1)

+ 2|sinx + cos x| + C
−x2

(x tanx + 1)

+ 2|sinx + cos x| + C
−x2

(x tanx + 1)

https://dl.doubtnut.com/l/_VYGo1HPwhbsE
https://dl.doubtnut.com/l/_Osf4LyxkHJJE


86.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
mxm+ 2n− 1 − nxn− 1

x2m+ 2n + 2xm+n + 1

+ C
−xm

xm+n + 1

+ C
−xn

xm+n + 1

+ C
−xn

xm+n + 1

+ C
xm

xm+n + 1

87. Evaluate .

A. 

B. 

C. 

D. none of these

∫
dx

tanx + cot x + secx + cos ecx

(sinx + cos x + x) + C
1

2

(sinx − cos x − x) + C
1

2

(cos x − x sinx) + C
1

2

https://dl.doubtnut.com/l/_N00bH7GSxoRJ
https://dl.doubtnut.com/l/_Ssxmrl2MNHmp


Answer: d

Watch Video Solution

88.  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫
x2(1 − lnx)

(ln4x − x4)dx

 In( ) − In(In2x − x2) + C
1

2
x

In x

1

4

In( ) − tan− 1( ) + C
1

4
Inx − x

In x + x

1

2
In x
x

In( ) + tan− 1( ) + C
1

4
In x + x

In x − x

1

2
In x
x

In( ) + tan− 1( ) + C
1

4
In x − x

In x + x

1

2
In x
x

89. The integral  is equal to

A. 

∫ dx
2x12 + 5x9

(x5 + x3 + 1)3

+ C
−x5

(x5 + x3 + 1)2

https://dl.doubtnut.com/l/_Ssxmrl2MNHmp
https://dl.doubtnut.com/l/_m58Ob8TeMyzv
https://dl.doubtnut.com/l/_NpR8En1LP1Jn


B. 

C. 

D. 

Answer: N/A

Watch Video Solution

+ C
−x10

2(x5 + x3 + 1)2

+ C
x5

2(x5 + x3 + 1)2

−x10

2(x5 + x3 + 1)
2

90. If , then

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ = a(tan2 x + b)√tanx + C
dx

cos3 x√sin 2x

16

5

27
5

7
10

27
10

https://dl.doubtnut.com/l/_NpR8En1LP1Jn
https://dl.doubtnut.com/l/_wpWRRd2h66IM


91.  where, C is a constant of

integration, then the function f(x) is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

If∫ = xf(x)(1 + x6) + C
dx

x3(1 + x6)
2
3

1
3

−
1

2

−
1

6

−
6

x

−
x

2

92.  is equal to

A. 

B. 

C. 

∫
dx

(1 + √x)√(x − x2)

−2√ + C
1 + √x

1 − √x

−2√ + C
1 − √x

1 + √x

−√ + C
1 + √x

1 + √x

https://dl.doubtnut.com/l/_WoAnjR33ICTH
https://dl.doubtnut.com/l/_YEsgdvvRcn7O


Section II - Assertion Reason Type

D. 

Watch Video Solution

2√ + C
1 + √x

1 − √x

1. Let F(x) be an indefinite integral of  


Statement I The function F(x) satisfies  for all real x. 


Because 

Statement II  for all real x.

A. Statement - 1 True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

B. Statement - 1 is True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

C. Statement - 1 True ,Statement - 2 is False.

sin2 x

F (x + π) = F (x)

sin2(x + π) = sin2 x,

https://dl.doubtnut.com/l/_YEsgdvvRcn7O
https://dl.doubtnut.com/l/_wt7gEOTNmtKd


D. Statement - 1 is False , Statement - 2 is True.

Watch Video Solution

2. Statement - 1 : The value of the integral

 

Statement -2: A primitive of the function f (x) is 

.

A. Statement - 1 True , 

Statement -2 is True , Statement -2 is a correct 

explanation for Statement -1.

B. Statement - 1 is True , 

Statement -2 is True , Statement -2 is a correct 

.explanation for Statement -1.

C. Statement - 1 True ,Statement - 2 is False.

∫ dx  is tan− 1( ) + C
e3x + ex

e4x + 1

1

√2

ex − e−x

√2

=
x2 + 1

x4 + 1

tan− 1( )
1

√2

x2 − 1

√2x

https://dl.doubtnut.com/l/_wt7gEOTNmtKd
https://dl.doubtnut.com/l/_NB7vqjzHpPZL


D. Statement - 1 is False , Statement - 2 is True.

Watch Video Solution

3. Statement -1 : If  and 

, then 

 

where C is an arbitrary constant. 

Statement -2 : A primitive of f(x)  is 

.

A. Statement - 1 True , 

Statement -2 is True , Statement -2 is a correct 

explanation for Statement -1.

B. Statement - 1 is True , 

Statement -2 is True , Statement -2 is a correct 

I1 = ∫ dx
ex

e4x + e2x + 1

I2 = ∫ dx
e−x

e− 4x + e− 2x + 1

I2 − I1 = log( ) + C
1
2

e2x − ex + 1

e2x + ex + 1

=
x2 − 1

x4 + x2 + 1

log( )
1

2
x2 − x + 1

x2 + x + 1

https://dl.doubtnut.com/l/_NB7vqjzHpPZL
https://dl.doubtnut.com/l/_zINIgHotgxQw


Exercise

explanation for Statement -1.

C. Statement - 1 True ,Statement - 2 is False.

D. Statement - 1 is False , Statement - 2 is True.

Watch Video Solution

1. Value of  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

sin(x − a)cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

cos(a − b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a + b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

cos(a + b)

sin(x − a)

cos(x − b)

https://dl.doubtnut.com/l/_zINIgHotgxQw
https://dl.doubtnut.com/l/_6JmGIlzVbflC


Watch Video Solution

2. is equal to :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx
x + sinx

1 + cos x

x  tan + C
x

2

x  cot + C
x

2

log(1 + cos x) + C

log(1 + sinx) + C

3. Evaluate:


A. 

B. 

C. 

∫ dx
1

(1 + x2)√1 − x2

tan− 1( )
1

2

√2x

√1 − x2

tan− 1( )
1

√2

√2x

√1 + x2

tan− 1( )
1

√2

√2x

√1 − x2

https://dl.doubtnut.com/l/_6JmGIlzVbflC
https://dl.doubtnut.com/l/_cv7j4JNv3XgA
https://dl.doubtnut.com/l/_26QMfB67vjZY


D. none of these

Answer: c

Watch Video Solution

4. , then k =

A. log 2

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx = k sin− 1 2x + c
2x

√1 − 4x

log 2
1
2

1
2

1

log 2

5.  is equal to∫etan − 1 x(1 + )dx
x

1 + x2

https://dl.doubtnut.com/l/_26QMfB67vjZY
https://dl.doubtnut.com/l/_EFY37D3Xb1tH
https://dl.doubtnut.com/l/_XNQyQq4E3hH0


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

xetan − 1 x + C

x2etan − 1 x + C

etan − 1 x + C
1

x

6. If 
 
 (b) 

(c) 
(d0 

A. 

B. 

C. 

D. 

Answer: a

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1

1

3

2

3

−
1

3
−

2

3

1/3

2/3

−1/3

−2/3

https://dl.doubtnut.com/l/_XNQyQq4E3hH0
https://dl.doubtnut.com/l/_GV3QQghE6R1B


Watch Video Solution

7.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx
xex

(1 + x)2

+ C
ex

x + 1

ex(x + 1) + C

− + C
ex

(x + 1)2

+ C
ex

1 + x2

8.  is equal to

A. 

B. 

∫ex log a. exdx

(ae)
x

(ae)
x

log(ae)

https://dl.doubtnut.com/l/_GV3QQghE6R1B
https://dl.doubtnut.com/l/_fvFC4Z3XwynY
https://dl.doubtnut.com/l/_iAzCOSVITKvx


C. 

D. none of these

Answer: B

Watch Video Solution

ex

1 + loga

9. If , then evaluate 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫g(x)dx = g(x) ∫g(x){f(x) + f ′ (x)}dx

g(x)f(x) − g(x)f' (x) + C

g(x)f' (x) + C

g(x)f(x) + C

g(x)f 2(x) + C

https://dl.doubtnut.com/l/_iAzCOSVITKvx
https://dl.doubtnut.com/l/_U6jR3rnuDwmw


10. If  


. Then,

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
1

(sinx + 4)(sinx − 1)

= A + Btan− 1{f(x)} + C
1

tan − 1x

2

A = , B = , f(x) =
1

5

−2

5√15

4 tanx + 3

√15

A = − , B = , f(x) =
1

5

1

√15

4 tan(x/2) + 1

√15

A = , B = , f(x) =
2

5

−2

5
4 tanx + 1

5

A = , B = , f(x) =
2

5

−2

5√15

4 tanx/2 + 1

√15

11.  is equal to

A. 

B. 

C. 

∫cos3 xelog ( sin x ) dx

− + C
sin4 x

4

− + C
cos4 x

4

+ C
esin x

4

https://dl.doubtnut.com/l/_Bvq21bC3SQ6I
https://dl.doubtnut.com/l/_Ll0FyflR0zfA


D. none of these

Answer: B

Watch Video Solution

12. Evaluate:


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫{1 + 2 tanx(tanx + secx)} dx
1
2

log secx(secx − tanx) + C

log cosec(secx + tanx) + C

log secx(secx + tanx + C)

log(secx + tanx) + C

13. Integration ∫(m) ^
m
.dx

https://dl.doubtnut.com/l/_Ll0FyflR0zfA
https://dl.doubtnut.com/l/_ZIgovrdfJaUf
https://dl.doubtnut.com/l/_rq39YkE8GBWI


Watch Video Solution

14. Find : 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫(√x2 + 1 dx
log(x2 + 1) − 2 logx

x4

(1 + )
1 / 2

[log(1 + ) + ] + C
1

3

1

x2

1

x2

2

3

(1 + )
3 / 2

[log(1 + ) − ] + C
1

3

1

x2

1

x2

2

3

(1 + )
3 / 2

[log(1 + ) + ] + C
2

3

1

x2

1

x2

2

3

15.  is equal to.

A. 

B. 

∫ dx
√tanx

sinx cos x

2√tanx + C

2√cot x + C

https://dl.doubtnut.com/l/_rq39YkE8GBWI
https://dl.doubtnut.com/l/_L5ZfbeL0ceDO
https://dl.doubtnut.com/l/_4C2tD2Pu0zOY


C. 

D. none of these

Answer: A

Watch Video Solution

+ C
√tanx

2

16.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ esin x cos xdx
sinx − cos x

√1 − sin 2x

esin x + C

esin x− cos x + C

esin x+ cos x + C

ecos x− sin x + C

https://dl.doubtnut.com/l/_4C2tD2Pu0zOY
https://dl.doubtnut.com/l/_UEvXPrBBcv1m


17. Evaluate 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

log(x4 + 1) + C

log(x4 + 1) + C
1

4

−log(x4 + 1)

18.  dx is equal to :

A. 

B. 

C. 

D. none of these

∫5555x

.555x

.5x

+ C
55x

(log 5)3

555x

(log 5)3 + C

+ C
555x

(log 5)
3

https://dl.doubtnut.com/l/_CqaDE80xEJcC
https://dl.doubtnut.com/l/_bKIqnZCqXbtR


Answer: C

Watch Video Solution

19. if  then find the value of a

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx = tan( + a) + C
1

1 + sinx
x

2

a = − , b ∈ R
π

4

a = , b ∈ R
π

4

a = , b ∈ R
5π

4

20. If  is equal to :

A. 

[f(x)g ' ' (x) − f ' 'g(x)]dx

f(x)

g' (x)

https://dl.doubtnut.com/l/_bKIqnZCqXbtR
https://dl.doubtnut.com/l/_eMbh6S1k2vk8
https://dl.doubtnut.com/l/_zzq9H02bQAGX


B. 

C. 

D. 

Answer: c

Watch Video Solution

f' (x)g(x) − f(x)g' (x)

f(x)g' (x) − f(x)g(x)

f(x)g' (x) + f' (x)g(x)

21. The relation 

 is true for

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫(sin 2x + cos 2x) = sin(2x − a) + c
1

√2

a = , b ∈ R
5π

4

a = − , b ∈ R
5π

4

a = , b ∈ R
π

4

https://dl.doubtnut.com/l/_zzq9H02bQAGX
https://dl.doubtnut.com/l/_4MoqxNkf6uzp


22.  is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫√ dx
cos x − cos3 x

1 − cos3 x

sin− 1(cos3 / 2x) + C
2

3

sin− 1(cos3 / 2x) + C
3

2

cos − 1(cos3 / 2 x) + C
2

3

23. The value of  is equal to

A. 

B. 

C. 

∫
π / 2

0
dx

cos 2x

(sinx + cos x)
2

+ C
−1

sinx + cos

log(sinx + cos x) + C

log(sinx − cos x) + C

https://dl.doubtnut.com/l/_4MoqxNkf6uzp
https://dl.doubtnut.com/l/_k3ZZoT8hEsMP
https://dl.doubtnut.com/l/_xINfXAWAmduT


D. 

Answer: b

Watch Video Solution

log(sinx + cos x)2 + C

24. 
 A=_________ _,

B=_________, C=___________

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx = Ax + B log(9e2x − 4) + C, then
4ex + 6e−x

9ex − 4e−x

A = − , B = , C = 0
3

2

35

36

A = , B = − , C ∈ R
35

36

3

2

A = − , B = , C ∈ R
3

2

35

36

https://dl.doubtnut.com/l/_xINfXAWAmduT
https://dl.doubtnut.com/l/_IAHhi8w3jVvt


25. If  ,then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫f(x)sinx cos xdx = lnf(x) + c
1

2(b2 − a2)

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 cos2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

26. 
 is equal to
 
 (b) 


 
(d) none of these

A. 

B. 

C. 

∫ dx
x + 2

(x2 + 3x + 3)√x + 1
tan− 1( )

1

3
x

√3(x + 1)

tan− 1( )
2

√3

x

√3(x + 1)
tan− 1( )

2

√3

x

√x + 1

tan− 1( )
1

√3

x

√3(x + 1)

tan− 1( )
2

√3

x

(√x + 1)

tan− 1( )
2

√3

x

√x + 1

https://dl.doubtnut.com/l/_o4Y1zPBSY28H
https://dl.doubtnut.com/l/_JniJ7dFrfr0M


D. none of these

Answer: b

Watch Video Solution

27. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx =
(x + x3)

1 / 3

x4

( − 1)
4 / 3

+ C
3

8

1

x2

− ( − 1)
4 / 3

+ C
3

8

1

x2

(1 − )
4 / 3

+ 1
1

8

1

x2

28.  is equal to∫ dx
(x4 − x)

1 / 4

x5

https://dl.doubtnut.com/l/_JniJ7dFrfr0M
https://dl.doubtnut.com/l/_gRfmKPCDrGxE
https://dl.doubtnut.com/l/_MpozPAaO1c7I


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

(1 − )
5 / 4

+ C
4
15

1

x3

(1 − )
5 / 4

+ C
4
5

1

x3

(1 + )
5 / 4

+ C
4
15

1

x3

29. Integrate the functions

A. , for all n except n =-1

B.  , for all n

C.  for all n except n =- 1

D.  , for all n

Answer: c

Watch Video Solution

f' (ax + b)[f(ax + b)]
n

{f(ax + b)}
n+ 1

+ C
1

n + 1

{f(ax + b)}
n+ 1

+ C
1

n + 1

{f(ax + b)}
n+ 1

+ C
1

a(n + 1)

{f(ax + b)}
n+ 1

+ C
1

a(n + 1)

https://dl.doubtnut.com/l/_MpozPAaO1c7I
https://dl.doubtnut.com/l/_IDihpPFllYJU


30. 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ = ?
dx

√sin3 x cos x

+ C
−2

√tanx

2√tanx + C

+ C
2

√tanx

−2√tanx + C

31. The value of the integral  is equal to

A. 

B. 

C. 

∫ dx
1 + x2

1 + x4

tan− 1 x2 + C

tan− 1( )
1

√2

x2 − 1

√2x

log( ) + C
1

2√2

x2 + √2x + 1

x2 − √2x + 1

https://dl.doubtnut.com/l/_IDihpPFllYJU
https://dl.doubtnut.com/l/_8ntDHwey1M0O
https://dl.doubtnut.com/l/_inDOMBw5Ohxl


D. none of these

Answer: b

Watch Video Solution

32. If  means log log log … x, the log being repeated r times, then 

 is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

lr(x)

∫[xl(x)l2(x)l3(x)...lr(x)]
− 1

dx

lr+ 1(x) + C

+ C
lr+ 1(x)

r + 1

lr(x) + C

https://dl.doubtnut.com/l/_inDOMBw5Ohxl
https://dl.doubtnut.com/l/_euZbv38XXFiB


33.  dx is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫x− 2 / 3(1 + x1 / 2)
− 5 / 3

3(1 + x− 1 / 2)
− 1 / 3

+ C

3(1 + x− 1 / 2)
− 2 / 3

+ C

3(1 + x1 / 2)
− 2 / 3

+ C

34.  is equal to

A. 

B. 

C. 

D. none of these

∫ dx
x3 − 1

x3 + x

x − logx + log(x2 + 1) − tan− 1 x + C

x − logx + log(x2 + 1) − tan− 1 x + C
1
2

x + logx + log(x2 + 1) + tan− 1 x + C
1
2

https://dl.doubtnut.com/l/_7nH6ZCoplJ2l
https://dl.doubtnut.com/l/_fcbkmPTLbC9I


Answer: b

Watch Video Solution

35.  . . . .

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx =
cos x + x sinx

x2 + x cos x

log(x(x + cos x)) + C

log( ) + C
x

x + cos x

log( )
x + cos x

x

36. The value of  dx is equal to

A. 

∫
cos 2x

cos x

2 sinx + log(secx + tanx) + C

https://dl.doubtnut.com/l/_fcbkmPTLbC9I
https://dl.doubtnut.com/l/_QVN4LEsB2sVt
https://dl.doubtnut.com/l/_yzcxkpfdM7Lw


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2 sinx − log(secx − tanx) + C

2 sinx − log(secx + tanx) + C

37. 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫  is equal to
dx

x(xn + 1)

log( ) + C
1

n

xn

xn + 1

log( )
1

n

xn + 1
xn

log( ) + C
xn

xn + 1

https://dl.doubtnut.com/l/_yzcxkpfdM7Lw
https://dl.doubtnut.com/l/_5tRbWg90j6T7
https://dl.doubtnut.com/l/_1sOZkJUcCO5p


38.  equals

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
a√x

√x

+ C
a√x

loga

+ C
2a√x

loga

2a√x. loga + C

39. If  then,

A. 

B. 

C. 

D. 

∫ = P tan− 1(m ) + C
dx

5 + 4 cos x

tanx

2

A = 1, B = 3

A = 2/3, B = 3

A = − 1, B = 1/3

A = 1/3, B = 2/3

https://dl.doubtnut.com/l/_1sOZkJUcCO5p
https://dl.doubtnut.com/l/_79LzOkZQo5nZ


Answer: B

Watch Video Solution

40. If , then I equals

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

I = ∫
dx

x4√a2 + x2

{ √a2 + x2 − √a2 + x2} + C
1

a4

1

x

1

3x3

{ √a2 + x2 − (a2 + x2)
3 / 2

} + C
1

a4

1

x

1

3x3

{ √a2 + x2 − (a2 + x2)
3 / 2

} + C
1

a2

1

x

1

2√x

41.  is equal to :

A. 

∫ dx
log(x + 1) − logx

x(x − 1)

[log(x + 1)]
2

+ (logx)
2

+ log(x + 1)logx + C
1

2

1

2

https://dl.doubtnut.com/l/_79LzOkZQo5nZ
https://dl.doubtnut.com/l/_oWSaGeRZ8Mx9
https://dl.doubtnut.com/l/_UTRzZyL6NVZa


B. 

C. 

D. none of these

Answer: b

Watch Video Solution

− [{log(x + 1)}2 + (logx)2] + log(x + 1). logx + C
1

2

[log(1 + 1/x)]2 + C
1

2

42. Let , then 


 is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

x2 ≠ π − 1, n ∈ N

∫x√ dx
2 sin(x2 + 1) − sin 2(x2 + 1)

2 sin(x2 + 1) + sin 2(x2 + 1)

log
∣
∣
∣

sec(x2 + 1)
∣
∣
∣

1

2

log
∣
∣
∣
sec( )

∣
∣
∣

x2 + 1

2

log∣∣sec(x2 + 1)∣∣
1

2

https://dl.doubtnut.com/l/_UTRzZyL6NVZa
https://dl.doubtnut.com/l/_uaM8XpjkQcYs


43. Given, , then  is

equal to

A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

f(x) =

∣
∣

∣

∣
∣

0 x2 − sinx cos x − 2

sinx − x2 0 1 − 2x

2 − cos x 2x − 1 0

∣
∣

∣

∣
∣

∫f(x)dx

− x2 sinx + sin 2x + C
x3

3

− x2 sinx − cos 2x + C
x3

3

− x2 cos x − cos 2x + C
x3

3

44.  is equal to :

A. 

B. 

∫
dx

x1 / 2(1 + x2)
5 / 4

+ C
−2√x

4√1 + x2

+ C
2√x

4√1 + x2

https://dl.doubtnut.com/l/_uaM8XpjkQcYs
https://dl.doubtnut.com/l/_WZ5EZc8wP8hE
https://dl.doubtnut.com/l/_FNbHilNoaHEl


C. 

D. 

Answer: b

Watch Video Solution

+ C
−√x

4√1 + x2

+ C
√x

4√1 + x2

45.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
x2

(a + bx2)
5 / 2

− ( )
3 / 2

+ C
1

3a

x2

a + bx2

( )
3 / 2

+ C
1

3a

x2

a + bx2

( )
2 / 3

+ C
1

2a
x2

a + bx2

https://dl.doubtnut.com/l/_FNbHilNoaHEl
https://dl.doubtnut.com/l/_BDPNSjwMGmjQ


46.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
sin3 x

(1 + cos2 x)√1 + cos2 x + cos4x

sec− 1(secx + cos x) + C

sec− 1(secx − cos x) + C

sec− 1(secx − tanx) + C

47.  is equal to

A. 

B. 

C. 

D. none of these

∫ dx
1

√sin3 x sin(x + α)

2cosec α√cosα + sinα tanx + C

−2cosec α√cosα + sinα cot x + C

cosec α√cosα + sinα cot x + C

https://dl.doubtnut.com/l/_GWrNazA85yAL
https://dl.doubtnut.com/l/_JyaQcjrqzSUI


Answer: b

Watch Video Solution

48. The antiderivative of  with respect to x is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

3x

√1 − 9x

(log3 e)sin− 1(3x) + C

sin− 1(3x) + C

(log3 e)cos − 1(3x)

49. Integration of  with respect to  is equal to

A. 

1

√x2 + 9
(x2 + 1)

√x2 + 9 + C

https://dl.doubtnut.com/l/_JyaQcjrqzSUI
https://dl.doubtnut.com/l/_dty5xTMyYSxh
https://dl.doubtnut.com/l/_805KKGRF79yn


B. 

C. 

D. none of these

Answer: c

Watch Video Solution

− + C
1

√x2 + 9

2√x2 + 9 + C

50. If

 ,

then

A. 

B. 

C. 

D. none of these

Answer: a

∫ dθ = cosec_ 1(f(θ)) + C
sin θ − cos θ

(sin θ + cos θ)√sin θ cos θ + sin2 θ cos2 θ

f(θ) = sin 2θ + 1

f(θ) = 1 − sin 2θ

f(θ) = sin 2θ − 1

https://dl.doubtnut.com/l/_805KKGRF79yn
https://dl.doubtnut.com/l/_yMHLUmIA3uE9


Watch Video Solution

51. The primitive of the function f (x) , when

 is given by

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

= (2x + 1)|cos x|

< x < π
π

2

cos x + x sinx

−cos x − x sinx

x sinx − cos x

52. The primitive of the function , when 

 is

A. 

f(x) = (2x + 1)|sinx|

π < x < 2π

−(2x + 1)cos x + 2 sinx + C

https://dl.doubtnut.com/l/_yMHLUmIA3uE9
https://dl.doubtnut.com/l/_kDt11jMu5MIE
https://dl.doubtnut.com/l/_hZA20MWhHORR


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(2x + 1)cos x − 2 sinx + C

(x2 + x)cos x + C

53. 


none of these

A. 

B. 

C. 

D. none of these

IfI = ∫√ dx, thenIequal
5 − x

2 + x

√x + 2√5 + x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

√x + 2√5 − x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

https://dl.doubtnut.com/l/_hZA20MWhHORR
https://dl.doubtnut.com/l/_ljQ7Vebt6Gew


Answer: b

Watch Video Solution

54. The value of the integral  , is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
xsinx2esecx2

cos2 x2

esecx2

+ C
1

2

esin x2

+ C
1

2

sinx2ecos2 x2

+ C
1

2

55. Evaluate:


A. 

∫ dx
x2 − 1

x√(x2 + αx + 1)(x2 + βx + 1)

log{ } + C
√x2 + αx + 1 + √x2 + βx + 1

√x

https://dl.doubtnut.com/l/_ljQ7Vebt6Gew
https://dl.doubtnut.com/l/_1wVfUmlVsA1L
https://dl.doubtnut.com/l/_clHhNNA53lMq


B. 

C. 

D. none of these

Answer: a

Watch Video Solution

2 log{ } + C
√x2 + αx + 1 − √x2 + βx + 1

√x

log{√x2 + αx + 1 − √x2 + βx + 1} + C

56. Evaluate 

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx
e2x − 2ex

e2x + 1

log(e2x + 1) − tan− 1(ex) + C

log(e2x + 1) − tan− 1(ex) + C
1

2

log(e2x + 1) − 2 tan− 1(ex) + C
1

2

https://dl.doubtnut.com/l/_clHhNNA53lMq
https://dl.doubtnut.com/l/_BStVw4ntQYBD


57.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx
1

cos x − sinx

log
∣
∣
∣
tan( + )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣cot ∣

∣ + C
1

√2

x

2

log
∣
∣
∣
tan( − )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣tan( − )∣

∣ + C
1

√2

x

2

π

8

58.  is equal to

A. 

B. 

C. 

D. 

∫ dx
ax / 2

√a− 2 − ax

sin− 1(ax)
1

loga

tan− 1(ax)
1

loga

2√a−x − ax

log(ax − 1)

https://dl.doubtnut.com/l/_GwItxc5fd2Jb
https://dl.doubtnut.com/l/_KHM61gU6L2L3


Answer: a

Watch Video Solution

59.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
f(x)

f(x)log(f(x))

+ C
f(x)

log{f(x)}

f(x)logf(x) + C

log{logf(x)} + C

+ C
1

log{logf(x)}

60. Evaluate: 

A. 

∫  dx
ex

(1 + ex)(2 + ex)

log( ) + C
ex + 1
ex + 2

https://dl.doubtnut.com/l/_KHM61gU6L2L3
https://dl.doubtnut.com/l/_crez7eMi0ZiM
https://dl.doubtnut.com/l/_9nX96E1lfdsc


B. 

C. 

D. 

Answer: A

Watch Video Solution

log( ) + C
ex + 2
ex + 1

+ C
ex + 1
ex + 2

+ C
ex + 2
ex + 1

61.  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫
1 + x + √x + x2

(√x + √1 + x)dx

√1 + x + C
1
2

(1 + x)
3 / 2

+ C
2

3

√1 + x + C

2(1 + x)
3 / 2

+ C

https://dl.doubtnut.com/l/_9nX96E1lfdsc
https://dl.doubtnut.com/l/_SWbOUmz6TYLV


Chapter Test

1. The integral  is equal to

A. a. 

B. b.

C. c.

D. d.

Answer: a

Watch Video Solution

∫ . dx
2x − 3

(x2 + x + 1)2

−16 − tan− 1( ) + C
2x + 1

(2x + 1)
2

+ 3

16

3√3

2x + 1

√3

− − tan− 1(4x + 3) + C
1

x2 + x + 1

4

3

− + C
1

2(x2 + x + 1)

(2x + 1)2

(x2 + x + 1)2

+ tan− 1(2x + 1) + C
1

4(x2 + x + 1)

2

3

2. If , then

A. 

B. 

C. 

∫ dx = √1 + x2f(x) + A  ln √x2 + 1 ∣ + C
x tan− 1 x

√1 + x2

f(x) = tan− 1 x, A = − 1

f(x) = tan− 1 x, A = 1

f(x) = 2 tan− 1 x, A = − 1

https://dl.doubtnut.com/l/_off9W0a5fUjP
https://dl.doubtnut.com/l/_5sVNuS5Rm1kA


D. 

Answer: c

Watch Video Solution

f(x) = 2 tan− 1 x, A = 1

3.  then

A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

If ∫x log(1 + 1/x)dx = f(x)log(x + 1) + g(x)x2 + Ax + C,

f(x) = x21

2

g(x) = logx

A = 1

4. If , then∫ dx = f(x)√1 + ex − 2 logg(x) + C
xex

√1 + ex

https://dl.doubtnut.com/l/_5sVNuS5Rm1kA
https://dl.doubtnut.com/l/_INsfUfU5fgTN
https://dl.doubtnut.com/l/_ErUW7ktDQ6SZ


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

f(x) = x − 1

g(x) =
√1 + ex − 1

√1 + ex − 1

g(x) =
√1 + ex + 1

√1 + ex − 1

f(x) = 2(x + 2)

5. The value of 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
cos3 x + cos5

sin2 x + sin4 x

sinx − 6 tan− 1(sinx) + C

sinx − 2(sinx)
− 1

+ C

sinx − 2(sinx)
− 1

6 tan− 1(sinx) + C

sinx − 2(sinx)
− 1

+ 5 tan− 1(sinx) + C

https://dl.doubtnut.com/l/_ErUW7ktDQ6SZ
https://dl.doubtnut.com/l/_XrqaZ6RokOII


6. If , then

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ = k tan− 1 x + l tan− 1. + C
dx

(x2 + 1)(x2 + 4)

x

2

A = 1/3, B = − 2/3

A = − 1/3, B = 2/3

A = − 1/3, B = 1/3

A = 1/3, B = − 1/6

7. If , then

A. 

B. 

C. 

∫ log(√1 − x + √1 + x)dx = xf(x) + Ax + B sin− 1 x + C

f(x) = log(√1 − x + √1 + x)

A = 1/3

B = 2/3

https://dl.doubtnut.com/l/_XrqaZ6RokOII
https://dl.doubtnut.com/l/_UmpKwGNuSicn
https://dl.doubtnut.com/l/_DLpMAV0N0cm5


D. 

Answer: a

Watch Video Solution

B = − 1/2

8. If  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx
x5

√1 + x3

(1 + x3)
5 / 2

+ (1 + x3)
3 / 2

+ C
2

9

2

3

(1 + x3)
3 / 2

− (1 + x3)
1 / 2

+ C
2

9

2

3

log∣
∣√x + √1 + x3∣

∣ + C

x2 log(1 + x3) + C

https://dl.doubtnut.com/l/_DLpMAV0N0cm5
https://dl.doubtnut.com/l/_rocEVj2ci9yX


9. The value of : 

 is :

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫esecx. sec3 x(sin2 x + cos x + sinx + sinx cos x)dx

∫esecx. (sec2 x + secx tanx)

esecx + C

esecx(secx + tanx) + C

10. If , then

values of  and  are respectively.

A. 

B. 

C. 

∫ dx = a ln( ) + b tan− 1. + c
2x2 + 3

(x2 − 1)(x2 + 4)

x − 1

x + 1
x

2

a b

( − 1/2, 1/2)

(1/2, 1/2)

( − 1, 1)

https://dl.doubtnut.com/l/_kF5gX7aTUebR
https://dl.doubtnut.com/l/_TQYMVESkUfVv


D. 

Answer: a

Watch Video Solution

(1, − 1)

11. Let  for  and , then

 equals to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

f(x) =
x

(1 + xn)1 /n
n ≥ 2 g(x) = fofo...of(x)


n times

∫xn− 2g(x)dx

(1 + nxn)1 − + k
1

n(n − 1)

1
n

(1 + nxn)1 − + k
1

n − 1

1
n

(1 + nxn)1 + + k
1

n(n − 1)

1
n

(1 + nxn)1 + + k
1

n − 1

1
n

https://dl.doubtnut.com/l/_TQYMVESkUfVv
https://dl.doubtnut.com/l/_1GWPHkELpYlY


12. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫
(ax2 − b)dx

x√c2x2 − (ax2 + b)
2

sin− 1( ) + k
ax + b

x

c

sin− 1
⎛

⎝

⎞

⎠
+ k

ax2 + b

x2

c

cos − 1( ) + k
ax + b/x

c

cos − 1
⎛

⎝

⎞

⎠
+ k

ax2 + b

x2

c

13. Evalaute: dx

A. 

B. 

C. 

∫ex
1 + nxn− 1 − x2n

(1 − xn)√1 − x2n

+ C
ex√1 − xn

1 − xn

+ C
ex√1 + x2n

1 − x2n

+ C
ex√1 + x2n

1 − x2n

https://dl.doubtnut.com/l/_OnLFnPIoa9wh
https://dl.doubtnut.com/l/_fxGa0Yp53YpW


D. 

Answer: d

Watch Video Solution

+ C
ex√1 − x2n

1 − xn

14. 

A. In 

B. In 

C. In 

D. In 

Answer: a

Watch Video Solution

∫ dx
x cos x + 1

√2x3esin x + x2

∣
∣
∣

∣
∣
∣

+ C
√2xesin x + 1 − 1

√2xesin x + 1 + 1
∣
∣
∣

∣
∣
∣

+ C
√2xesin x − 1 − 1

√2xesin x − 1 + 1
∣
∣
∣

∣
∣
∣

+ C
√2xesin x − 1 + 1

√2xesin x − 1 − 1
∣
∣
∣

∣
∣
∣

+ C
√2xesin x + 1 + 1

√2xesin x − 1 + 1

15.  is equal to∫ dx
x3

(1 + x2)
1 / 3

https://dl.doubtnut.com/l/_fxGa0Yp53YpW
https://dl.doubtnut.com/l/_ohCx6a3bK9N2
https://dl.doubtnut.com/l/_nIACHKaR4K5L


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

(1 + x2)
2 / 3

(2x2 − 3) + C
20

3

(1 + x2)
2 / 3

(2x2 − 3) + C
3

20

(1 + x2)
2 / 3

(2x2 + 3) + C
3

20

16.  then find out 

A. 

B. 

C. 

D. none of these

Answer: c

∫ dx = Ax + B log(sin(x − α)) + C
sinx

sin(x − α)

(A, B)

A = sinα, B = cosα

A = cosα, B = − sinα

A = cosα, B = sinα

https://dl.doubtnut.com/l/_nIACHKaR4K5L
https://dl.doubtnut.com/l/_fKUrsc5mqgjp


Watch Video Solution

17. What is  equal to ?

Watch Video Solution

∫ dx
x2 + 1

x4 − x2 + 1

18. Evaluate: 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
x − 1

(x + 1)√x3 + x2 + x

tan− 1 √ + C
x2 + x + 1

x

2 tan− 1 √ + C
x2 + x + 1

x

3 tan− 1 √ + C
x2 + x + 1

x

https://dl.doubtnut.com/l/_fKUrsc5mqgjp
https://dl.doubtnut.com/l/_ea38DFI9lHBA
https://dl.doubtnut.com/l/_aEocW1JAhaNI


19.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
1 + x2

x√1 + x4

−log
∣
∣

∣
∣
x − + √(x − )

2

− 2
∣
∣

∣
∣

+ C
1

x

1

x

log
∣
∣
∣
∣
x − + √(x − )

2

+ 2
∣
∣

∣
∣

+ C
1

x

1

x

−log
∣
∣

∣
∣
x − + √(x − )

2

− 2
∣
∣

∣
∣

+ C
1

x

1

x

20.  is equal to

A. 

B. 

C. 

∫ dx
1 + x4

(1 − x4)
3 / 2

+ C
x

√1 − x4

+ C
−x

√1 − x4

+ C
2x

√1 − x4

https://dl.doubtnut.com/l/_Vg0PqpnBZMCa
https://dl.doubtnut.com/l/_p5aSXgvDNmI8


D. 

Answer: a

Watch Video Solution

+ C
−2x

√1 − x4

21. If , then

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ = + + ln
∣∣
∣

∣∣
∣

+ C
dx

x4 + x3

A

x2

B

x

x

x + 1

A = , B = 1
1

2

A = 1, B = −
1

2

A = − , B = 1
1

2

22. If  and  then  is equal to :f' (x) =
1

(1 + x2)3 / 2
f(0) = 0, f(1)

https://dl.doubtnut.com/l/_p5aSXgvDNmI8
https://dl.doubtnut.com/l/_3AGhWX9Kzvtr
https://dl.doubtnut.com/l/_qdvIMPbexlaI


A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

−
1

√2

1

√2

√2

23.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫(x) ( 7√1 +
3√x4)dx

1
3

{1 +
3√x4}

8 / 7
+ C

21

32

{1 +
3√x4}

8 / 7
+ C

32

21

{1 +
3√x4}

8 / 7
+ C

7
32

https://dl.doubtnut.com/l/_qdvIMPbexlaI
https://dl.doubtnut.com/l/_gkuNTozAtNxE


24.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
1

(a2 + x2)3 / 2

+ C
x

a2√a2 + x2

+ C
x

(a2 + x2)
3 / 3

+ C
1

a2√a2 + x2

25.  is equal to

A. 

B. 

C. 

∫ dx
1

x(x4 − 1)

log
∣
∣
∣

∣
∣
∣

+ C
1

4
x4

x4 − 1

log
∣
∣
∣

∣
∣
∣

+ C
1

4
x4 − 1

x4

log
∣
∣
∣

∣
∣
∣

+ C
x4 − 1

x4

https://dl.doubtnut.com/l/_gkuNTozAtNxE
https://dl.doubtnut.com/l/_TcCOiD5vw8wf
https://dl.doubtnut.com/l/_xda7NfwDHoQk


D. 

Answer: B

Watch Video Solution

log
∣
∣
∣

∣
∣
∣

+ C
x4

x4 − 1

26.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
1 + x

1 + 3√x

x5 / 3 + x − x4 / 3 + x + C
3

5

3

4

x5 / 3 − x4 / 3 + C
3

5

3

4

x5 / 3 − x4 / 3 + C
3

5

3

4

27.  is equal to∫√x2 + 1dx

https://dl.doubtnut.com/l/_xda7NfwDHoQk
https://dl.doubtnut.com/l/_1ye69xtyIYQ0
https://dl.doubtnut.com/l/_5YuNKGCyEpVt


Watch Video Solution

28.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
x2 − 2

x3√x2 − 1

+ C
x2

√x2 − 1

− + C
x2

√x2 − 1

+ C
√x2 − 1

x2

− + C
√x2 − 1

x2

29.  is equal to

A. 

B. 

C. 

∫ dx
√x

1 + 4√x3

[1 + x3 / 4 + loge(1 + x3 / 4)] + C
4

3

[1 + x3 / 4 − loge(1 + x3 / 4)] + C
4

3

[1 + x3 / 4 + loge(1 + x3 / 4)] + C
4

3

https://dl.doubtnut.com/l/_5YuNKGCyEpVt
https://dl.doubtnut.com/l/_ZUq0TMbuNGhA
https://dl.doubtnut.com/l/_F4qGVd0IZ7U6


D. none of these

Answer: b

Watch Video Solution

30. 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x + 3√x2 + 6√x

x(1 + 3√x)

x2 / 3 + 6 tan− 1 x1 / 6 + C
3
2

x2 / 3 − 6 tan− 1 x1 / 6 + C
3
2

− x2 / 3 − 6 tan− 1 x1 / 6 + C
3
2

https://dl.doubtnut.com/l/_F4qGVd0IZ7U6
https://dl.doubtnut.com/l/_aItR9ryxlIkL

